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7-106. See below:

a.(8,8)

b. (6.5,6)
7-107. See below:

a. AAA; Not necessarily congruent.

b. Congruent by SSS =

¢. AFED = ABUG by HL = or SSS =.

7-108. See below:
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7-109. See below:
a.Ttis a right triangle because the slopes of 4B and 4C (3 and —4, respectively) are opposite

reciprocals.

b. B isat (-2, 0). Itis an isosceles triangle because AB'AB must be a straight angle (since it is
composed of two adjacent right angles) and because BC = B'C (since reflections preserve

length).

7-110. Let b=# boys, g = # gitls. 5b+3g=175, b+ g=45. 25 girls came to the dance.
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7111, See below: ¥
a.p=3.97v+ 109.61, where p is power (watts) and v is VOymax (mUkg/min).
b. 280 watts. The measurements are rounded to the nearest whole number.

. 293 — 280 = 13 watts

o

d.r=0.51; The linear association is positive and weak.

o

There is a weak positive linear association between power and VO,max, with no apparent
outliers. An increase of one ml/kg/min in VOomax is predicted to increase power by 3.97
watts. 26.7% of the variability in the power can be explained by a linear relationship with
VO,max.




